
  11/09/06-IP-1 

<ip> ::= 
            efsmId <tut> <ips> 
<tut> ::= 
            transitionId 
<ips> ::= 
            <ip> | <ips> <ip> 
<ip> ::= 
            <ipType> ipId [<testIds>] <nodes> 
<ipType> ::= 
            ip_affecting | ip_affected | ip_sideEffect 
<testIds> ::= 
            testId | <testIds> testId 
<nodes> ::= 
            <node> | <nodes> <node> 
<node> ::= 
            node nodeIndex <label> [<adjacencySet>] 
<label> ::= 
            transitionId 
<adjacencySet> ::= 
            <reverseSet> | <nonreverseSet> 
<reverseSet> ::= 
            <reverse> | <reverseSet> <reverse> 
<reverse> ::= 
            inc sourceIndex <dependencyType> 
<nonreverseSet> ::= 
            <nonreverse> | <nonreverseSet> <nonreverse> 
<nonreverse> ::= 
            out destinationIndex <dependencyType> 
<dependencyTye> ::= 

dat | ctl | activation | affectingGhostDat | 
affectedGhostDat | ghostActivation 



  08/08/04-IP-2 

ATM_System 
T5 
  
ip DT5_0 Test_1 Test_2 
node 0 T1 
node 1 T4 
inc 0 dat 
node 2 T6 
inc 1 ctl 
inc 0 dat 
node 3 T6 
inc 2 dat 
inc 1 ctl 
node 4 T5 
inc 3 dat 
inc 1 ctl 
  
ip DT5_1 Test_3 
node 0 T1 
node 1 T4 
inc 0 dat 
node 2 T6 
inc 1 ctl 
inc 0 dat 
node 3 T6 
inc 2 dat 
inc 1 ctl 
node 4 T6 
inc 3 dat 
inc 1 ctl 
node 5 T5 
inc 4 dat 
inc 1 ctl 
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Test_2 = T1 T2 T4 T6 T8 T6 T8 T5 T8 T9
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DDG -> DIPTUT = T5

Start Card(pin, b)/
Prompt_for_PIN()

attempts := 0

T1
S1

T2

PIN(p)
[(p != pin) and (attempts < 3)]/

attempts := attempts + 1
Prompt_for_PIN()

S2

T4

S3

Withdrawal(w)/
b := b - w

T5

Balance()/
print(b)

T7

Continue()/
Display_menu()T8

PIN(p)
[p == pin]/

Display_menu()
Deposit(d)/
b := b + dT6

Exit

Exit()/
Eject_card()

T9

PIN(p)
[(p != pin) and (attempts == 3)]/

Display_error()
Eject_card()
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